Organic Chemistry 2   2008     Final Exam     Student ID #                               Name                               .
Total 180 points. Write your answers in the space provided. If you need more space, write on the back.
1. (20 points x 2) Suggest two different and efficient reaction pathways to produce each of the following target compounds from the starting materials given. You can use any reagents and reaction conditions for the desired reaction. Full credit will be given to an answer showing each intermediate reaction but no reaction mechanism is required. Name the target compound, too.
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(The intermediates from each reaction should differ and do not use acetylene as a reagent.)
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(The intermediates from each reaction should differ.)
2. (40 points) Provide three possible products from the following reaction and how to identify each product by each spectroscopic tool discussed in the class (IR, 1H & 13C NMR, UV/vis and mass spectra). Predict and explain which product would be a major. Name the starting material and each product, too.
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3. (20 points x 2) Propose a reasonable reaction route for the synthesis of each of the following target compounds from the starting materials given. You can use any reagents and reaction conditions for the desired reaction. Full credit will be given to an answer showing each intermediate reaction with a reaction arrow but no reaction mechanism is required.
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; starting compound: ethyl acetoacetate. Name also the target compound.
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; starting compounds: any organic compounds having three or fewer carbons. Name also the starting compounds and the target compound.
4. (30 points x 2) Suggest three different and efficient reaction pathways to produce each of the following target compounds from the starting materials given. You can use any reagents and reaction conditions for the desired reaction. Full credit will be given to an answer showing each intermediate reaction with a reaction arrow but no reaction mechanism is required.
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; starting compounds: any organic compounds containing three or fewer carbons. The reagent also must not contain more than three carbons (The intermediates from each reaction should differ.)
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; starting compounds: any organic compounds containing four or fewer carbons. Name also the starting compounds and the target compound. (The intermediates from each reaction should differ.)
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